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(A) -MeL $alld ). 
(B) NeL $al4ld el. 

(3) ße sls -

(B) $ald 9. 
(C) Re2l gqas1l s . 

Instruction : Figures to the right indicate the marks of the question. 

ENGLISH VERSION 

(a) (i) State what points would you consider as an auditor 

before commencing new audit. 

(B) Bìs2l- RaNSId 

(ii) Write a short note on Redemption of Redeemable 
Preference shares. 

Dividend. 

OR 

(i) Discuss the provisions of the Companies Act and 
duties of an auditor in respect of issues of shares 
at a premium. 

4 

7 

7 

(ii) State the duties of an auditor with regards to Interim 7 
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(b) Answer the following MCQ. 
() Can the securities premium be utilized to convert partly 

AE-488 | 

paid up cquity shares in to fully paid up shares as 
bonus? 

(A) No 
(B) Yes 

(C) Can be utilised if articles of Association of the 
company provides 

(D) Companies Act does not provide anything with 
respect to this 

(2) The percentage of underwriting commission on shares 
and debentures are the following respectively. 
(A) For shares 2.5% and for debentures 5% 
(B) For shares 5% and for debentures 2.5% 
(C) For shares 2% and for debentures 3% 
(D) For shares 12% and for debentures 10% 

(3) Dividend warrants should be issued to or dividend 
should be paid to the members within how much time. 
after the dividend is declared? 

(A) 21 days 
(B) 42 days 
(C) Before the end of Respective Financial year 
(D) 30 days 

(4) Which of the following included in the clauses of 
Memorandum of Association? 

(A) Name clause of the company 
(B) Clause of liability of members 
(C) Address of registered office of the company 

(D) Above all 

(a) (i) Explain difference between clean report and 
qualified report. 

(ii) State elements of a good audit report. 

certificate. 

OR 

(i) Distinguish between auditors report and auditor 

(ii) Explain the importance of audit report. 
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(b) Answer the following MCQ. 
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(2) 

(1) Ifthe auditor has given a qualified report the following 

(a) (i) 

Conequences may result. 

(ii) 

(A) The central government nay impose a fine on 

shareholders. 

(B) The board of directors have to give reply to such 

qualifications in his board's report. 

(C) The auditor has to resign. 

(D) The board of dircctors have to resign. 

(A) Audit programme 
(C) 

is a statement of collected and considered facts. 

(3) To which of the following Acts is the company auditor 
Annual statement 

(B) 1932 Partnership Act 

expected to address his report? 

(A) 1949 Law and Order Rules 

(C) 2013 Companies Act 

(D) 2000 Income Tax Act 

(4) To which of the following parties is the company 

(A) Central Government 
auditor expected to address his report? 

(C) Company Secretary 
(B) Board of Directors of Company 

(D) None of the above 

2018-19 

2019-20 

2020-2 1I 

Explain the factors affecting the divisible profit. 
From the following information of Laxmi Co. Ltd. 

determine its divisible. profit of the year 2020-21. 
Year Profit or Depreciation Depreciation 

loss before as per company 
depreciation 

(B) 

(+, ’ Rs. 
-3,00.000 

(D) None of the above 

+60,000 

Report 

+7.80,000 
OR 
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() Explain the difference between profit and divisible 
profit. 

(i1) Explain the provisions of the Companies Act regarding 
distribution of dividend. 

(b) Answers the following MCQ. 

AE-488 ] 

() Which of the following statements is not correct for 

the divisible profit? 

(a) (i) 

(A) No dividend can be declared without providing for 
depreciation on fixed assets. 

(D) The members of the company have the power in 
general meeting to raise the rate of dividend being 

declared by the board of directors. 

(2) The profit on sale of assets is known as 
(B) 
(D) Capital profit 

(B) The board of directors can declare interim dividend. 

(C) Dividend can not be declared from the profit prior 
to incorporation. 

(A) Gross profit 
(C) Divisible profit 

(3) Current year profit of a company is Rs. 6,00,000. 
Calculate amount required to be transferred to general 
reserve if company dicided to decline dividend on share 

capital at the rate of 13.5%. 

(A) Rs. 60.000 

(C) Rs. 30,000 

Net profit 

hospital. 

Distinguish between Audit and Investigation. 

OR 

(B) Rs. 1,00.000 

(i) Prepare an audit programme for charitable trust 

(D) Rs. 45,000 

7 

(i) State the important point to be considered before 

preparing an audit programme. 

(ii) Make an investigation on behalf of an intending 
purchase of a business. 
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(b) Answer the following MCQ. 
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(1) should not be considered while conducting 

an investigation. 
(A) Percentage of raw material 

(B) Disqualification of directors 
(C) Time limit of investigation 
(D) None 

(2) Which is a corect statement? 

(A) Investigation is compulsory. 
(B) Investigation is optional. 
(C) Investigation can be conducted by any one. 
(D) None of above 

(3) Audit programme 
(A) make the audit simple and efficient 
(B) is compulsory 
(C) determines the responsibility of an auditor 
(D) None of above 
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